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@l)

liately the moment she fell down the stairs.
(B) swelled (C) captured (D) interrupted
a presentation this afternoon, but he hasn't had time to prepare, so he is going to just wing it.
(B) powerful (C) alive (D) supposed
ven in the 21st century, there are still many women around the world accused of being __ and
a result.
(B) witches (C) pianists (D) spies

. Don't take drugs t
(A) numerous
. North Korea is su
unauthorized missil
(A) international
. Joia, by offering di

by the gourmet exp¢

Ojbether with alcohol. The combination can be fatal as

examples have demonstrated.
(B) humorous (C) classical (D) experimental

ject to harsh sanctions that were passed by UN Security Council Resolution after their

¢ test in September 2017.

(B) initial (C) technical (D) ancient
shes with a high standard, is the first and only vegetarian restaurant to be awarded a star
brts in charge of the Michelin Guide.

(A) frequently (B) originally (C) consistently (D) normally
7.1 contacted a travel | to see how much an airplane ticket to Los Angeles would cost.
(A) charm | (B) agency (C) mission (D) survey
8. Many researches showed that orphans or children of mixed marriages may face crises.
(A) identity (B) damage (C) mineral (D) suspicion
9. Though she couldn'f understand him, Lydia still tried her best to help the foreigner who asked her for directions with
_____and body language.
(A) obstacles (B) fables (C) leaks (D) gestures
10. Research suggests that people with outgoing personalities tend to be more , often expecting that good
things will happen. |
(A) current (B) essential (C) demanding (D) optimistic

IL. Cloze (30%, @1)
You may feel d
blue, you had better {

epressed because of heavy pressure or poor relationships. However,
ind a way to solve your problem soon. For example, you can do some

11 _ causes you to feel
12 activities like

jogging, bicycling, or brisk walking several times a week. These activities will cause your body to release

endorphins and
come with regular ex
junk food and tea or
And you can make y

most important of all,

11. (A) no matter wha
12. (A) immediate
13. (A) arise
14. (A) do so
15. (A) proper ‘

13
ercise

your energy level in the short run. Good health and the feeling of accomplishment that
14 __ in the long run. You can also try to lighten your mood by avoiding too much
coffee. Besides, getting __ 15 amounts of sunlight also helps a lot when you are moody.

burself happy by working as a volunteer, for you have the chance to take care of others. But

you will begin to cherish your life more if you list all the good things in it.

(B) no matter who (C) whenever (D) wherever

(B) visual (C) absolute (D) physical
(B) arouse (C) rise (D) raise

(B) make it (C) end up (D) go wrong
(B) vast (C) sensitive (D) severe



Global warming has become a serious problem around the world. People have learned such ways as saving

energy and recycling
helpful. _ 16
thing, all farm animal

resources to slow it down. However, we may not be aware that changing our diet can also be

, we can eat more vegetables and less meat, for eating meat is unfriendly to the environment. For one

, such as cows and pigs _ 17  a lot of methane from their bodies. __18 , meat production

affects the environment through the use of water and land, which seriously affects our environment. Besides, we can

eat local foods
because long-distance

produce. Moreover, we can eat seasonal foods to lower the

19

_those that travel a long distance to the market like California grapes and Fuji apples. That’s
transportation uses more gasoline, and this in turn 20 the amount of greenhouse gas we
21 on our environment. Out-of-season foods often

cost more, for it takes more fertilizer to grow and more electricity to store. Our choice of food obviously may affect

not only our health but the whole planet, especially when its limited resources are __ 22  used up. So for ourselves
and our future generations, it is better to change our eating habits as soon as possible.

16. (A)At last (B) In addition (C) After all (D) For a start

17. (A) behave (B) renew (C) release (D) switch

18. (A) As a matter of|fact (B) For another thing (C) On the one hand (D) To put it simply
19. (A) in spite of (B) excerpt for (C) rather than (D) regarding

20. (A) adds (B) consists (C) reduces (D) increases

21. (A) burden (B) regret (C) charts (D) calories

22. (A) simply (B) nearly (C) rarely (D) roughly

Poetry has played an important role in literature since writers began to describe what they saw or how they felt

by means of language

Similes and metaphors are two of the methods that they use to form __23  images in readers’

minds and they help readers better understand the meaning of each poem. Simile comes from the Latin word simili,

which means 24
object by using the wq
metaphor, it is much
sunshine” or "Life is a

In the lines above, the
readers can clearly un
readers through the clg

23. (A) beloved

24. (A) likeness
25. (A) another

26. (A) As long as
27. (A) should hear
28. (A) are

29. (A) am

30. (A) what

_or similarity. A simile is a figure of speech in which an object is explicitly compared to __ 25
brds “like” or “as.” “My love is like a red, red rose” is a good example of a simile. _ 26  the
more direct: it only tells us that one thing is something else. You __27  someone say, “You are my
journey.” Both of these are well-known exampies of metaphors. Here __28  another example.

If you were a shining star
AndI _ 29  your midnight,

I'd let you shine above me,

You’d be my only light.

poet is comparing is lover to a shining star, from which all his light comes. From this metaphor,

derstand __30  important the poet’s lover is to him. So poets can create images that appeal to

>ver use of similes and metaphors.
(B) grand (C) vivid (D) dim
(B) likewise (O) likely (D) dislike
(B) the other (C) others (D) other
(B) As for (C) While (D) Accroding to
(B) must hear (C) must have heard (D) may have heard
(B) have ©O)is (D) has
(B) was (C) were (D) had been
(B) too (C)so (D) how

International Women’s Day is on March 8. In celebration of that day, here is a glimpse at some of the women

31  discoveries and
with computers. She
could be done. They

translated English-based code into machine code, making a(n) __ 33
cience, Marie Curie's contribution can't be
ancer. She also developed mobile X-ray devices that could be used in field hospitals. Her life's

Nobel prizes.

the field of medical s¢
radiation in treating G
work earned her two ]

believed that writing programs

inventions have had a great influence on our lives. Let’s start with Grace Hopper. She worked

32  easier by using English words. Few people thought it
thought computers could only work by using numbers. In 1952, she invented software that
step in the world of computer programming. In

34 . Her discovery of radium __ 35  the use of




31. (A) who (B) that (C) where (D) whose

32. (A) could have made (B) was made (C) could make (D) could be made

33. (A) sufficient (B) significant (C) offensive (D) identical

34. (A) overlooked (B) registered (C) simplified (D) deemed

35. (A) came along with (B) came up with (C) allowed for (D) shed light on
Most people th'bk of ants as hard-working workers, constantly collecting food and building nests. Researchers

have made a huge dij covery about these tiny creatures: an average of 40 percent of ants in a colony _ 36 lazy
layabouts. “They really just sit there,” says Daniel Charbonneau, a researcher from the University of Arizona.
Charbonneau and his team made this discovery by painting the ants, putting four tiny dots of colored paint on each one
in order to __37  it. Then, using video recordings, they tracked the ants’ movements __38 . But why were so
many ants idle? Char onneau __ 39 by removing 20 percent of the most active workers from their colony. Within a
week, the inactive workers 40  the ones that were lost. Charbonneau’s work shows that even in studying the
simplest creatures, there’s always more to learn.

36.(A)is (B) are (C) has been (D) have been
37. (A) enforce (B) identify (C) impose ' (D) import
38. (A) over time (B) all day long (C) for good (D) sooner or later
39. (A) jumped on (B) found out (C) figured out (D) worked out
40. (A) forbade (B) composed (C) sprayed (D) replaced
III. Matching (20%, @2) (] ¥ A ) B T+ &)

(AB) chosen | (AC) fatal (AD) safety (AE) population

(BO) called | (BD) species (BE) analysis

Scientists at London's Natural History Museum have begun building a DNA bank to preserve the DNA of
endangered animals. | 41  the Frozen Ark, after Noah's Ark, the bank will store DNA from numerous animals.

The museum has| started with the most endangered __ 42 . Among the first _ 43  were a Caribbean frog, a
type of dove, a sea hofse, a cricket, and a snail. The DNA samples will be kept frozen at minus eighty degrees Celsius,
and duplicates will be kept around the world for __44

The/ current rate of animal loss is the greatest in the history of the earth, " the museum reports on its Website. It
adds that 24 percent of mammals and 12 percent of birds will disappear in the next thirty years.

This collection of DNA will allow future scientists to study these animals if the rest of their 45  die out.

(AB)exactly (AC) not to mention that (AD) introduced (AE) when it comes to
(BC) advancement (BD) rating (BE) frequently
‘ Be careful when you are having fun in the sun. In direct sunlight, sunburn can occur in less than 15 minutes,
46 skin can be sunburned even if it hasn't yet turned red. Luckily, sunburn can easily be prevented. You just have to
use sunscreen. Sunscrgen is not __47  a new thing. People have been using chemical pastes to protect themselves
from the sun for hunjrreds of years. The first modern sunscreen, __48  in 1935, was offered by L’Oréal, a French
|

cosmetics company. Ij protected people from the sun but still let them get a tan. Seeing the success of the product,
other companies quickly released their own sunscreens. The biggest __49 _ in sunscreen technology came about the
1970s. Scientists start¢d looking at sun protection factor, or SPF. This _ 50 _ is a number that shows how effective a
sunscreen is against ulfraviolet rays. A sunscreen with an SPF of 30 is suitable for most people.

IV. Reading Comprehension (16%, @2)

The Statue of Liberty sits in New York Harbor. Universally known, the landmark was designed by French
sculptor Frederic Auguste Bartholdi. Born in Colmar, France in 1834, he studied art, sculpture, and architecture in
Paris. In 1856, he toured Egypt and the Middle East and was inspired to create large-scale public monuments and
sculptures. About a de:cade later, he heard about a monument for the US. It would represent freedom and democracy

and was proposed by %fellow Frenchman who Bartholdi fully supported. Bartholdi took it upon himself to design the
5

ed working on the statue, called Liberty Enlightening the World. With his idea approved, he
construction with funds raised in both France and the US. He originally wanted to have it

piece, and in 1870 st
managed to finance i




holding broken chaing to represent the end of American slavefy. The people paying for the statue rejected the idea.
However, Bartholdi was able to reach a compromise. He put broken chains at the feet. He also gave the statue a tablet
to hold, which bears [the date of the Declaration of Independence--July 4, 1776. US president Grover Cleveland
ordered the statue to lJe fitted with special equipment. He wanted it to be a lighthouse. The light from the torch could
be seen 24 miles away] but it was too dim to effectively guide ships.
51. What can we know about the designer of the Statue of Liberty?

(A) He studied art before moving to France.

(B) He was unwilling to construct the statue at first.

(C) He visited New York Harbor to seek inspiration for the statue.

(D) He decided to make large sculptures after visiting other countries.
52. What do we know about the birth of the Statue of Liberty?

(A) Bartholdi traveled to the US for inspiration.

(B) Bartholdi designed the statue with a fellow Frenchman.

(C) The statue was|meant to be a symbol of freedom.

(D) An American who Bartholdi supported made the first design.
53. What can be inferred from this passage?

(A) Many French people opposed the construction.

(B) Two countries Were involved in raising money to construct the statue.

(C) Large scale public monuments were rare in the 19th century.

(D) Bartholdi insisted on building the statue regardless of others’ opinions.
54. According to the passage, why was the statue not a good lighthouse?

(A) The light wasnt bright enough. (B) The light kept going out.

(C) The light conft*sed passing ships. (D) The light changed color too often.

In March of 2016, a computer system managed to beat a human expert in the complex game of Go. This result
comes after years of research and improvements to the structure of data information systems and data storage, and
signals a milestone in the development of Al. Computers can be programmed to mimic human intelligence and EQ,
and to even have the ¢apacity to dream. However, scientists still caution about the dangers of intelligent computers,
and some writers with joveractive imaginations foresee Al becoming the greatest peril that the human race will have to
confront.

Despite these concerns, Al shouldn't be considered as a threat to humans. Scientist and author Steven Pinker
explores the innumerable practical difficulties of developing a machine that thinks in his book How the Mind Works by
contrasting the animate and the inanimate. Throughout the book, Pinker demonstrates that both sides have deficiencies
and areas which they ¢xcel at. After all, people can't do what a simple computer can do, but computers also struggle
with many basic human tasks. Who is better? In fact, humans can program computers to imitate the way they think and
to solve certain specific problems. Al lacks, though, the ability to do general problem solving and the emotions
required for autonomy and conflict resolution. Furthermore, Al follows instructions quite literally. Thus humans should
let go of that fear of living as slaves in a computer world.

55. What milestone was reached by Al in March of 2016?
(A) A robot managed to simulate EQ for the first time. , (B) Al has learned how to do basic human tasks.
(C) A computer system beat a human expert in the game of Go. (D) A computer wrote How the Mind Works.

56. Who is Steven Pi
(A) He is an expert in the game of Go.
(B) He is a scientist and an author of a book about Al and humans.
(C) He is a politician who opposes the development of Al
(D) He is a researcher who created Al with the ability to simulate human intelligence.

57. Which of the following is NOT mentioned as a deficiency of AI?
(A) The incapability to dream. (B) The inability to do general problem solving.
(C) The tendency to follow instructions literally. (D) The lack of conflict resolution skills.

er?




58. How can this passage best be summed up?

(A) After years o

[ research, scientists have finally developed a computer that can do anything a human can do.

(B) It will only take a few more years until Al will make humans their slaves.

(C) Al technology has developed rapidly, but humans can do some things better than computers.

(D) Science fictig
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